Statistics

Quiz 2 (2017/3/28)

DEPARTMENT: ID NUMBER: NAME:

_ n
B (18pt) 0 X40X,e, ..., X, 0000000@0id)o00O0ooOO X=%ZX]-.
7=1
(1)@pt)y oo Xy, Xo, ..., X, 00000000000 (Weak Law of Large Number) O0O. 000D O0OO0O
0000000000000 O00 WMoooo (000DoOoO0O00OoOoffROO0O0O0O0O0O0)

(2)(10pt) 0O 0 (1)000000D0O00O0. OO0 :Chevyshev’s inequality Pr(|X — u| = ko) < %.

A 2pt) O Zy, Zs, ..., Zy, ... ~H N(O, 1).

(1)Upt) 000 {Zj}j=1... 00000000070 ROOMHOOOOO.

(2)Upt) 000 {Z;}j=1... 00000000070 tOHGODOOOO.

(3)Upt) 000 {Zj}j=-1... 000000000 m,n0 FOHGODOOOO.

(4)(15pt) OO Z:%ézjm ]é(Zj—Z)ZDDDD.DD:DD (Z,2\—Z,7Zs—Z, ... Z,—Z)0000

—> —>t—>
O000. 00 2:000000000000 ZM;((a)ZE[eXp(aX)])



B 5pt) O Xy, Xy, ..., X, 0000000000000 00 fi0000 o? =V[X,;]=20/00000
MO00OfEy =EX;]. 000 Pr(| X —u|<1)2090000 00000 X0OOOO ¢00000 100
000009 000/R00000000 (0000 n)

(1)(5pt) oD Oooooo0 (Central Limit Theorem) 000000 n. ((RO000 O ()00 0.0(x) =

ft:I 1 _t2 d
tzfooEGXp(T) t)
(2)(10pt) 00O Chebyshev’s inequality 000000 n. 0 #0000 f000 nD (1)00O.

B (30pt) DODODODO0O NOOODOOODO.OODOOOOODOOO0OO0OO0OO0O0O0O00O0 (sampling without replacement)
n

00000 (X1, Xy, ..., X,;n< N).OOOOOODOOOOOOO u,oz.DX:%ZXJ-.
Jj=1
_02

N—1

(1)12pt) OO COVIX,y, Xo1=
(2)(6pt) 0O E[X].
(3)(12pt) OO VX
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